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SWt = SW0 +
∑

(Rday − Qsurf − Ea − wseep − Qgw)
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aqsh,i = aqsh,i−1 + wrchrg,sh − Qgw − wrevap − wpump,sh

aqsh wrchrg,sh

Qgw

wrevap wpump,sh



hwtbl,i = hwtbl,i−1 exp−αgwΔt +
wrchrg

800μαgw

(
1.0 − exp−αgwΔt

)

hwtbl αgw

μ Δt
αgw

wrevap,mx

wrevap,mx = βrevE0

βr E0

wrevap

wrevap = 0 aqsh ≤ aqshthr,rvp

wrevap = wrevap,mx − aqshthr,rvp aqshthr,rvp < aqsh < (aqshthr,rvp + wrevap,mx)

wrevap = wrevap,mx aqsh ≥ (aqshthr,rvp + wrevap,mx)

aqshthr,rvp

wdeep = βdeepwrchrg

wdeep

βdeep



wseep = wperc,ly=n + wcrk,btm

wseep

wperc,ly=n wcrk,btm

wrchrg,i

wrchrg,i = (1 − exp (−1/δgw))wseep + exp (−1/δgw)wrchrg,i−1

δgw

Qgw =
8000Ksathwtbl

L2
gw

Qgw Ksat

Lgw
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R2 =

∑
(q − q)2 − ∑

(q − q′)2

∑
(q − q)2

= 1 −
∑

(q − q′)2

∑
(q − q)2

q q′ q
R2

Abw =
Vmod

Vgem
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